~A k1 84F 2 L T T P SRR AN 2 0E BE i SR

S el = I &S

A e | B | & | Bk | BN B ANHCO | | B | B
uEs O| Of2] 1 A O | gfl1] 2
40 | 5-0 4 2-2
+ | A O 1 2 i — A (0] 3
0-4 3-1 1-4 0-4
s | A O | 3 + 1 1
0-5 | 1-3 2-2 | 4-0
C U | | L | | ELE D | T | =9 | | B | EAL
N O| A1 ] 2 % o O| Of2]1
32 | 1-4 4—1 | 50
g | A A |0 | 3 =th Of1] 2
2-3 0-5 1-4 2-1
i | O 2 1 g | A O | 3
41 | 5-0 0-5 | 1-2
2 1
5 0 0 3
4] o 2 | 3 1] 2 o | s
A B C D A B C D
1 2 1 2 ! 2 1 2 1
T T T T T T T A
1] 1] H H H H H H
0 7 H = + 1 N En




2z ¥ A

—
™
K
R
H
mf
— IR &
[aN]

2 m | ¢ | « gl o | w | w |-
MMM — o N Mﬂ o — o ™
= Q2] Q2 5 <] <] «2

i o) | |Z| Oz| oz ox
B 47| O |Z| Oz T O%
A QT Q2] Q| |5 O7 | Or| O
¢ EIELE | (e EE| RS

fir

fir

fir

fir

HE




B F 48k g

—— 15 Ak

— ]_6 \,%7|<

p— 17 A

—— 18 KL

co

20  HE

E— S
p— ) 3 @ﬁ
L 4 &H

&

B



10

11

12

13

14

15

HERE:

i

=Rk

L

(S

ANTH]

Z= [

i)l

B F55 kg

— 17

— 19

— 21

22

— 24

— 26

— 28

— 30

ANTH]

rEIRE R0

Bl

i

NI

A

ik

/IVBR

2 1

R

K

(

9

10

&

10

&

B

&

10

&

6



9

10

11

12

13

14

15

=M

Il

pijifE 2!

3

o

o

(S

/AL

(S

1t
i

&
H

X H

B F60kgik

— 17

— 19

— 21

22

— 24

— 25

—— 28

At

b

ﬁ} =\
m W

@R
5

%
m

FE ]



10

11

12

13

14

15

gt

EEp- 3

e R

FEAS

i

B 6 6 k g #&

— 17

— 18

1EiE(2)

— 21

22

— 24

%10

— 27

— 29

30

3
e

B

&

B



Iigs

i

B F73kgik

11

12

15

—— 16

17

K



mE
i

ol
b

Il

HiJtl

il

/IR

ETFIN

K

10

&

B ¥F81kgih

B F90kgi

4 (3)

BFoOokgiB#&

HE%F(9)

/IR (4)

T 4)

10

11

(

8

10

10

&

10



X F44kg#
1 EEH (9 )

2 B\ (10 )
3 Hifg

4 EE (6 )
5 K@M (4)

T F48kegth

1 AE (6 )
2 = (2)
3 WEE (10 )
4 s,mKR (&)
5 7 (6 )

X F52kgi

1w (6 )
2 =W (9 )
3 *mH (10 )
4 pmHE (6 )
5 fepE (7))

3 1k (6 )
4 Kk (7))

Lo TN

21 (6) EZN()

|

T I (6) F11(6)

©

|

PERE(T) /INHR(6)

H1m(9) 75 11 (6)

11

T

et

10

10

S W o



X F6 3kg#k
1wy (&)

2 Frrss (10 )

3 s (4 )

EF70kg B
1 s (6 )

2 mgE (10 )

) JEw](6)

—F() JHH(T)

JINEY

JIH

Bk

ARA



